e =9 4ol (Tn+ 12) cm

> ®™E: gol: 2lrcem?

(2] 39] o))

:2HX6XW = Tn(cm)

(99 dol)=Tnr+6+6 = Tr + 12(cm)
210°

Hol)— 62
(Hoh)=nx 6% x 3055

= 21n(cm?)
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o (1) 187 cm?
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. (2) 8rem?

vV VvV vV v v VY
0
m

0x
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: (3) 36mcm?

B

(1) (#AE] Hol)=rx 92 x o = 18n(cm?)

@) (FAE Hol)=rx 82 x > = 8x(em?)

() (#A] Fol)=nx 182 x -0 = Son(em?)
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o 22 22 AR AOB ¢ Hol7}
S5cm? A W, & O 9] Yol]& Fstoizt

40°

40°:360°=5:x,

x 5 = 45(cm?)
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(1) BEA152] Zol7F 4em, S ZHe] 2717} 45°Q1 A&
(2) BEZ] 59 Zol7} 6 cm, SHZEO] 27171 210°91 FA&
(3) ¥F2 52| 4ol7} 3em, 42O 2717F120°¢ FA&
(4) REA152] Zol7k 18 em, 429 27]17F 120°)1 FA&

Cf
r= .
Cf
=
(1) 27 cm?
HEr: (2) 21rem?
HED (3) 3rem?

v v Vv vvyvVYvyy
0
i

0
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(4) 1087 cm?

~&B

(1) (FAE] Hol)= rx 42 x = = 2n(cm?)

360
() (#A2] Fol)=nx 67 x > = 21n(cm?)
() (FA42) §ol)= nx 32 x 120 = n(cm?)

) 120
(4) (A= Wol)= 7 x 182 x 360 = 108x( cm?)




